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QUESTION 1

Which syntax would you use in an OBEY script to stop a process without waiting for user input? 

A. stop * noinput 

B. stop immediate * 

C. stop * ! 

D. stop force * 

Correct Answer: C 

 

 

QUESTION 2

What sequence of steps should you follow to add a data pump that reads from a local trail? 

A. In GGSCI, on the source system, issue the command: ADDEXTRACTgroup name, TRAILSOURCE trail name. 

B. In GGSCI, on the source system, issue the command: ADDPUMP group name, TRAILSOURCEtrail name. 

C. In GGSCI, on the source system, issue the command: ADDPUMP group name, EXTTRAILSOURCEtrail 

name. 

D. In GGSCI, on the source system, issue the command: ADD EXTRACT group name, EXTTRAILSOURCE trail name. 

Correct Answer: D 

Reference: https://docs.oracle.com/goldengate/1212/gg-winux/GIINF/giinf_add_processes.htm#GIINF304 

 

QUESTION 3

You are running multiple installations of Oracle GoldenGate on the same Windows server. How can you differentiate the
different Manager services? 

A. Create a GLOBALS file for each installation and use the MGRSERVNAMEparameter, with a unique name. 

B. Include the parameter SERVICENAME in each Manager, with a unique name. 

C. Accept the default service name and manually edit within the Services applet. 

D. Multiple Manager services are not allowed on the same Windows server. 

Correct Answer: A 

Reference: http://www.dba-oracle.com/t_goldengate_parameter_files.htm 
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QUESTION 4

What is the function of the GoldenGate JAgent? 

A. It performs connections via JDBC to run the Veridata comparisons. 

B. It enables communication between GoldenGate and Monitor, and Enterprise Manager Agent. 

C. It reads the database transaction logs. 

D. It integrates GoldenGate with Oracle Data Integrator. 

Correct Answer: B 

 

 

QUESTION 5

Because SQL errors are filling the Replicat report file, you want to set a threshold for the number of errors that can be
tolerated on any target table before being reported to the process report and to the error log. 

How can you accomplish this? 

A. Use the REPORTCOUNT parameter to set the threshold. 

B. Use the STATS parameter to set the threshold. 

C. Use the ERRORTHRESHOLD parameter to set the threshold. 

D. Use the WARNRATE parameter to set the threshold. 

Correct Answer: D 

Reference: https://docs.oracle.com/goldengate/1212/gg-winux/GWUAD/wu_monitoring.htm#GWUAD645 
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